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WORKSHEET 2
Prof. Dr. Dilek TEMİZ

 1. Given U (X, Y) = 8XY + 8 X2 + 12 Y2  , Px=$40, PY=$100, M=$8400. Write the problem and solve this problem by using the Lagrangian multiplier method. (Find X, Y, and MU)    
2. Let us suppose that the price of Good A is $10, the price of Good B is $40, marginal utility of Good A is 400 utils and marginal utility of Good B is 600 utils. For this information, what would occur in order to reach the consumer equilibrium? 
3. Let us suppose that the price of Good D is $100, the price of Good E is $50, marginal utility of Good D is 500 utils and marginal utility of Good E is 1000 utils. For this information, what would occur in order to reach the consumer equilibrium.
4. Given U(X, Y) = 12XY + 4 X2 + 2 Y2  , Px=$200, PY=$200, M=$2000. Write the problem and solve this problem by using the Lagrangian multiplier method. (Find X, Y, and MU)    
5. Tony has a utility function of U (X, Y) = XY. The price of a t-shirt (denoted by X) is $10, while the price of a coffee (denoted by Y) is $5. Tony’s budget to spend on t-shirts and coffee is $100. What is the Tony’s optimal basket of t-shirts and coffee? (Note: it must maximize his utility given his income).

6. A consumer is in equilibrium and is spending income in such a way that the marginal utility of product X is 40 units and Y is 16 units. The unit price of X is $5. What is the price of Y? 2
7. Suppose the price of a hamburger is $8 and the price of Coke is $3. Assume that the consumer has spent all of his income. If the marginal utility of a hamburger is 32 and the marginal utility of Coke is 15, is the current consumption bundle optimal?
8. If the consumer's budget constraint is given by 10F + 5S = 100 where F is food and S is shelter, how much food can he buy if he purchases 2 units of shelter?  
9. Carl is stranded in the forest and must survive on coconuts and quail. His utility function for those items is U = f(C,Q) = 10C - C2 + 4Q - Q2.

A. If Carl maximizes his utility and has no constraints on how many he can get, what will he do?

B. If PQ = $5, PC = $20, I = $500, how many will he get of each if he is doing the best he can? 

10. U = $200, Px = $20, Py = $40, U= 2XY Solve the minimization problem and find the min expenditure amount. 
11. Let U(X, Y) = min (X,Y), I = $700, Px = $5, Py = $2 What is the optimal consumption basket?
12. Suppose Eric has a total income of $100. He uses all the income to purchase apples and oranges. Assume the price of apples is $5 per bag, and the  price of oranges is $15 per bag. With apples on the horizontal axis and oranges on the vertical axis, what is Eric’s budget constraint? Assume the price of oranges dropped by $5, what is the slope of the new budget constraint?
13. U = XY. Budget information is as follows: M = 100, Px = $ 1 Py = $1 Solve this maximization problem and find the optimum solutions. 

14. What does it imply if MUX / PX > MUY / PY ?

15. Suppose Judy only consumes hamburgers (H) and pizza (P). Her utility function is given as:

U = 0.5H2P2 Her weekly salary is $280. The unit price of hamburgers is $5, and the unit price of pizza is $10. Find Judy’s optimal daily consumption basket.
16. Assume that given a consumer’s utility function and prices for X and Y, the optimal quantities of burgers (X) and fries (Y) are such that X = 2Y İf the consumer’s income constraint is $10, Px = $2    Py = 1$, what is the utility maximizing consumption levels of X and Y?
17. If the consumer’s budget constraint is given by 10F + 5S = 100, what is the opportunity cost of food in terms of shelter?
18. Ali consumes two goods: fries and soda. Suppose that his marginal utility from drinking soda equals 1 / s, and his marginal utility from consuming fries is 1 / f. If the price of soda is $0.50, the price of fries is $4, and Ali’s income is $120, how much soda will he purchase?

19. The vending machine in Katherine’s office building offers cans of pop and candies. Katherine’s utility function is U = 3PC, where P is the amount of pop consumed per week and C is the amount of candy consumed per week. Pop costs $1 and candy costs $0.5 per bag. If Katherine has $10 to spend, what is the optimal combination of pop and candy?

20. Mark’s income is $60. The price of clothing is $1 per unit, and the price of food is $6 per unit. With clothing on the horizontal axis and food on the vertical axis, what is the equation of his budget line, and what is the slope of the budget line?

21. Assume Jim consumes two goods: X and Y. He has a utility function of U=X2Y on bundles of (X, Y). The price for good X is twice the price of good Y. If Jim bought a combination of the two goods, and in doing so achieved a utility of 1000, how much of good X did Jim buy?

22. Robert’s utility function on bundles of (x, y) is given by: U = 2x4y5. What is the value of MRSx,y when x = 3 and y = 2?
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